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ME_Primary#show fluidity network [ME_Secondary#show tluidity network
unit B.226.224,208 infrastructure meshend primary unit §,244,227.8 infrastructure meshend backup
wehicles 1 toral mobiles 2 wvahicles 1 totsl _smebiles 2
infrastructure S backbane B|seshond 5, 266,226,200 infrastrusture 5 backbomn @ [mashend 5.246,226.200
Wohiele 10 Path Infrastr.ID  wis  Mobile ID via H/O Seq H/O Age M Primary ID Secondary 108 |  Vehicle 10 Path Infraste.I0  wis  Mobile 10 win H/D Seq H/D Age #M Primary ID Spcondary IDs
B8241166 8 B.65.196.28 R1  5.66.154.36 A1 23 31,383 2 5.46.194.3h 5.246.2.128 FLETSLETY B 5.26.195.28 AL 5.45.194.32 Rl 23 54885 2 B.h& 194,34 5.204.2.120
Typ Infrastr.Ib Y Wehicle IDs Typ Infrastr. Il #  Vehicle 10s
M 5.746.227.8 L M 5.266.226.200 @
5.137.258.808 L] 5.137.250.88 L]
5.137.260.148 @ 5.45.195. 20 1 88261154
B.86, 196,20 1 BAZ6116& 6.137.260.148 @
= M B.Je6.226.200 B ® M B.Rek. 2278 L]
ME_Primaryall ME_Secondsr:
— — — —e
- SOUmYTaY - - SOUMYTEY 111210
64 bytes from 18.122.135 14 icep_sequids TrlsS1 times3? 925 ms &4 bytos from 18.127.136.13: icmp_seqesd3 ttls5l times28.878 ms
64 bytes from 10.122.136.14: icmp_seqes5 ttl=51 time=32.71Z ms &4 bytes from 19.122.136.13: icmp_seqe=s24 ttl=5l times32.473 ms
46 bytes from 10.122.134.14: icmp_seqesfé ttlsEl times39.937 ms £ bytes from 19.122.136.13: icmp_seqss2S ttlsGl times30.459 ms
66 bytes from 18.132.136.14: icmp_sequsl? ttlsBl times28.72% ms 66 bytes from 19.127.136.13: icmp_seqssds ttl=Bl times29.87% ms
64 bytes from 16,122.136.14: icmp_seq=4fl ttl=61 time=30.192 ms 64 bytes from 19,122,136.13: icmp_seq=il7 ttl=61 time=30.187 ms
& Bytes from 1@, 122.136.14: icmp_segeiB? trl=51 ti 9,516 me 66 bytes from 19.122.136.13: icmp_seqeils ttl=51 time=32.267 ms
64 bytes from 10,127.136.14: icmp_teqei9® TrlsS1 Ui .27 By 54 bytes from 18.127.136.13: tl=51 timen26.937 m
64 bytes from 18.132.135.14: icep_segqeddl tileSi td L803 =y &4 bytes from 18,137 136.13: ® t1le51 timew31 865 ms
54 bytes from 10.122.135.14: icmp_seqes92 ttlsEl times29.137 ms £ bytes from 18.122.136.13: icmp_seqssdl ttlsGl times29.155 ms
= A J
ME_Primary#show fluidity network [ME_Secondary#snow tluidity network
umit §.266.236,209 infrastructure meshend primary wnit 6.246,227.8 infrastructure meshend backup
wehicles 1 toral mobiles 2 wvahicles 1 totsl _mebiles 2
infrastructure 5 backbane B|seshond 5, 266,226,200 infrastrusture 5 backbomn @ [mashend 5.246,226.200
Wohiele 10 Path Infrastr.ID  wis  Mobile ID via H/O Seq H/O Age M Primary ID Secondary 108 | Vehicle 10 Path Infraste.I0  wis  Mobile 10 win H/D Seq H/D Age #M Primary ID Spcondary IDs
B8281166 8 B.65.196.28 Rl 5.66.154.36 A1 23 31,383 2 5.46.154.36  5.246.2.128 FLETSEETY B 5.26.195.28 AL 5.45.194.32 Rl 23 54885 2 B.h& 194,34 5.204.2.120
T Infrastr.I0 v Wehicle 1Ds Typ Infrastr.ID ™ vehicle 10s
M 5.746.227.8 L M 5.266.226.200 @
5.137.250.88 @ 5.137.250.80 ®©
5.137.260.148 @ 5.45.195. 20 1 88261154
586,196,280 1 BAZ6116& 6.137.260.148 @
= H 6.2%.;20.2“ L] L]
ME_Primarys
R— T 1 0 T
.- soumyray . - - SOUMYTEY 111x10
64 bytes from 18.122.135 14 icep_seqei8s TrlsS1 times3? 925 ms &4 bytos Trom 18.127.136.13: icmp_seqesd3 ttls5l times28.878 ms
64 bytes from 10.122.136.14: icmp_seqes85 ttl=51 time=32.71Z ms 54 bytes from 19.122.136. i tt1=51 time=32.673 ms
& bytes from 18.122.134.14: icmp_sequsfé ttl=El time=30.937 ms &2 bytes from 18.122.138. ttl=51 times38.459 ms
66 bytes from 18.132.136.14: icmp_sequsl? ttlsBl times28.72% ms &6 bytes from 19.122.138. ttl=61 times29.87% ms
68 bytes from 12,122,13¢.14: icmp_seq=488 ttl=61 time=356.292 ms &6 bytes from 10,122.136.13: icmp_seq=427 ttl=f1 time=230.187 ms
68 Bytes from 18,122.138.14: fcmp_segeiB? trl=5i ti 5 bytes from 10.122.196.13: icep_seq=i28 ttl=5l tise=32.267 ms
&4 Bytes from 18,122.136.14: icmp_segesf® trls=51 6& bytes from 18.127.136.13: icmp_seqeél® ttle5l times26.937 ms
64 bytes from 18.122.136.14: icmp_soqeadi ttlssi &4 bytos from 10.127.136.13: icmp_seqe4dd ttl=5i times31.865 ms
64 bytes from 10.122.136.15: icmp_seqeid2 ttlssi £ bytes from 18.122.136.13: icmp_seqssdl ttlsGl times29.155 ms
= A |
CtA|- 7|2 0| ZdAFRH O N =N Nurl = Al ol = R E3o| HA| lEo| odstE EHEtst
|_||:|. AIanl- 7|E |].||A| Ilo| o|xi |. =P EEO." -I_A|_||_-_|.
- = — [ — = L-— T— 3= = .

[ME_Secondary#show fluidity network

unit 5.246.227.8 infrastructure meshend primary
vehicles 1 total_mobiles 2
infrastructure 4 backbone Blmeshend 5.246,227. 8|

Vehicle ID Path Infrastr.ID via Mobile ID via H/0 Seq H/O0 Age

#M Primary ID

Secondary IDs

88261156 @ 5.66.195.2¢ R1 5.66.194.36 Rl 26 7.192

2 5.66,

194.36

5.246.2.120

Typ Infrastr.ID #V  Vehicle IDs
5.137.250.80 @
5.66.195.28 1 88261156
5.137.2508.148 2]
* M 5.246.227.8 [’]
LME_Secondary#l
3CHA: ZroH7} e Aist 7|2 BiC|2 7t CHA| A|ZFE|o] Rt S8fLICt JBLt WEQ3 EEZX|E &

ot7| flsl M x[dg 7ICHEILICH
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ME_Secondary#show fluidity network

unit 5.246.227.8 infrastructure meshend primary
vehicles 1 total_mobiles 2

infrastructure 5 backbone @ meshend 5.246.227.8

Vehicle ID Path Infrastr.ID via Mobile ID via H/0 Seq H/0 Age #M  Primary ID Secondary IDs

88261156 8 5.66.195.20 R1 5.66.194.36 R1 26 58.026 2 5.66.194.36 5.246.2.120

Typ Infrastr.ID #V  Vehicle IDs

5.137.258.88 ]

M 5.246,226.200 [°)
5.66.195.20 1 88261156
5.137.250.148 <]

* M 5.246.227.8 a
k:-'IE_Sem:mdary#l

ACHA|: M7 Elo|Hof| =5 MHIA| ID 5.246.226.2000| 7|£ IDo| @dgr2 QA et HA| ID
5.246.227.82| £ & x|7} ChA| E=X ID7}F ELIC

*2F 2lC| 20| M ZHoH x| HIAE

Ol AlHA HESIFo|Me & CHe| Rt EO| ME HHof @IZE[0] U= REXM HESLIIE 7HXK|1
QJC}. o] RHZFoil= IP 10.122.136.13 - HIA| ID 5.66.194.36 (P) 2! 10.122.136.14 - HIA| ID
5.246.2.120 (S)2| 2tC|2 2707t A& L.

1EHA: 7|18 Y EX R M EX(7t 25 =22t 4efLIch Z2 Al IDe] 2tc|27t 7|& Bt
QE XSS CIE ID/I EX BICIRE & &dte WE & = UsLICH FM F&o met 712 2
Ex FMEF EE M IR S4E = JaUch J8{u REE HESQF0 CHE 2E O
AER SA2 Y 7|8 BIC|RE STHELICE TITAN EZ &3 F4 T R|E 500ms Lol L& A
Primary7} & LIC}.

Ol &3 B0l ME HA A= M A FMKIMPLS EIEE & + A&LICH

|(5.246.226.283 5.2646.2.128 1586093897> ESTABLISHED ftn 31 ilm 256808 pim 38.54853918@ ka @ { 5.246.226.200 5.137.250.148 5.66.194.36 5.246.2.128 }l
<5.246.226.200 5.137.250.148 537791201> ESTABLISHED ftn 1 ilm 2546800 pi- 11.153242652 ka @ { 5.246.226.200 5.137.250.148 }
<5.246.226.200 5.137.250.80 785538390> ESTABLISHED ftn 2 ilm 256881 pi- 11.151583173 ka @ 5.246.226.280 5.137.250.148 5.137.2508.88
<5.246.226.200 5.66.194.36 633206167 ESTABLISHED ftn 3@ ilm 256007 pim 38,.540566965 ka @ { 5.246.226.200 5.137.250.148 5.66.194.346 }
<5.246.226.200 5.246.227.8 1774125858> ESTABLISHED ftn 28 1lm 256886 pl- 11.153574318 ka { 5.2646.226.200 5.246.227.8 }
<5.246.226.200 5.66.195.20 526811188> ESTABLISHED ftn &4 ilm 256083 pi- 9.151122548 ka @ { 5.246.226.200 5.137.260.148 5.466.195.20 }
ME_Primary#||

HE_Primarys BE2H11506 B 5.66.195.20 Rl 5.86.194.38 A1 23 540086 2 B.66,196.36  5.266.2.120
HE_Primarydshow fluidity network
wnit §.708,226.200 infrastructure meshend primary Tye Infrastr.ID v vehicle IDs
wehicles 1 total scbiles & e e S
infrastructure § backbess @ meshend 5.246.226.200 M 5.2446,226.280 @
Gliar i
Vehicle 10 Path Infraste.I0  wia Mobile 1D via H/O Seq WSO Age &M |Primary ID Secondary 103 5.86.195.28 1 BaTELISE

e et DR TR —memmmn 5.137.750.148 @

88262156 ? 5.66.195.20 Rl 5.66.194.36 AL 23 310303 2 |6.66.195.36  6.266,2.120 |= M 5.244.227.8 ]

ME_Secondary®show fluidity metwork
Typ Infrastr.10 @V WVehicle 10s wnit §.246,227.8 infrastructure meshend backup
---------- wvehicles 1 total_sobiles 2

M 5,248,227.8 @ infrastructure § backbene @ meshend 5.246.226.200

§,137.150.89 @

5.137.750.148 @ Vehicle 10

5.46.175.20 1 83261156
* M 5.245.226.288 @ BB261156
ME_Primsrysreload
Proceed with reload cosmand {cold)? [confirm) Ty Infrastr.1b  #v Vehicle 10s
cli: AP Rebooting: CLI triggered cold reboot [reload command) M G.206,226.200 @

§.137, 250, 58 L]
5.66.195.20 1 BBIS1154

ME_PrimarysConnestion to 10.122.135.50 closed by ye=ote hast. 5.137,250.148 @
Connection to 18.122.134.58 closed. « M 5.244.207.8 ]
SOUmYEAYESOUMYRAY -M=0XTV ~ N [] ME_Secondarysf]
w soumyray — ping 10.122.126.14 — 111x10 CN N = soumyray — ping 10.122.138.13 — 111=10
64 bytes from 10.122,136,14: icep_soqsBl? ttlstl times3s.iss ms 64 bytes from 18.122,136,13; icep_seqeaSl ttle$l time=28,182 ms
Request timecut for icep_siq 513 54 bytes from 10.127,136.13;: icep_seq=452 ttlsS1 time=29,882 ms
&b bytes from 10.122.138,14: icep_seqeS5ls ttl=51 tises32,. 648 me & bytes from 10.122,136.13: icesp_seqm=é5) ttlsSl time=29.980 ms
&4 bytes From 10,122,138, 14: dcep_soqe515 11l=51 tise=30,268 ms 6% bytes from 10.122.136.13: ilcsp_seqmd®é ttl=Sl vime=28.950 =3
£4 bytes from 19,132,198, 14: fesp_seqs515 ttla5i tisss30.704 ms 6 bytes from 10.12%.136.13: lesp_seqe455 ttleSi viseeid 943 sg
54 Dytes from 19.132.136.14: fcep_seqs517 ttle51 timesZ8.961 ms 54 bytes Trom 10.122.136.13: lcsp_seqeaSt ttle51 times28.579 ms
&4 bytes from 10.122.136.14: icep_seqsB18 ttl=51 times25.223 ms &4 bytes from 10.127.135.13: icep_seqeiS? ttle51 times31.743 ms
&4 bytes from 18.122.136.14: fcep_soqsB1? ttls5l times31.112 ms 64 bytes from 18.122.136.13: icep_seqeas8 ttleSl time=27.375 ms
&4 bytes from 18.122.136,14: fcep_seq=520 ttl=51 time=29.437 ms 44 bytes from 10.122,136.13; icep_seq=48% ttl=Sl time=29.563 ms
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'MP_Vehicle_Secondary#show fluidity network

unit 5.246.2.120 vehicle 188008568 primary active
vehicles 1 total_mobiles 1

infrastructure 5 backbone @ meshend 5.246.226.200

Vehicle ID Path Infrastr.ID via Mobile ID via H/0 Seq

H/0 Age

#M

Primary ID

Secondary IDs

* 100008568 ® 5.137.250.148 R1 5.246.2.128 R1 120

Typ Infrastr.ID #VY Vehicle IDs

1.450

1

5.246.2.120

M 5.246.226.200 a
5.246.227.8 ]
5.66.195.208 a
5.137.250.80 a
5.137.258.148 1

MP_Vehicle_Secondary#fl

1080088568



MP_TRK&Backhaul
MP - 10.122.136.9

) 5180 ¥ 5240

MP_Vehicle_Secon... p
10.122.136.14
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Ch.

Ol 23 B4k M £ = Q50| 5.66.194.360| 2221 AEHE Eorg*xl'ﬂ* MY XA 7|2 B E
Z MENZ A S8t QoM 5.246.2.1202 04%5 g grElsta JA&LICH E8H MPLS E{ol=
5.246.2.1200| EBALO|= ElC|22t 4l &S Eof ELICH
MP_Vehicle_Secondary#show fluidity network
unit 5.246.2.120 vehicle 100088568 primary idle

vehicles 1 total_mobiles 2
infrastructure 5 backbone @ meshend 5.246.226.280

Vehicle ID Path Infrastr.ID via Mobile ID via H/O0 Seq H/O0 Age #M Primary ID Secondary IDs

* 100008568 8 5.137.250.148 R1 5.66.194.36 R1 141 5.606 2 5.246.2.120 5.66.194.36

Typ Infrastr.ID #V Vehicle IDs

M 5.246.226.200 ]
5.246.227.8 2]
5.66.195.20 2]
5.137.250.80 e
5.137.250.148 1 100008568

MP_Vehicle_Secnndary#ﬂ



<5.246.
<5.246.
<5.246.
<5.246.
<5.246.
<5, 246,

226,
226.
226.
226,
226,

226

200
208
280
200
280
L2088

ME_Primary#f]

MP_TRK&Backhaul
MP - 10.122.136.9

MP_Vehicle _Prima
10.122.136.13

5.246.2.120 1586093897> ESTABLISHED ftn 31 ilm 2560808 pim 19.454668222 ka @ { 5.246.226.200 5.137.250.148 5.66.194.36 5.246.2.120 }
5.137.250.148 537701201> ESTABLISHED ftn 1 ilm 256000 pi- ©.110429844 ka @ { 5.246.226.200 5.137.250.148 }

5.66.194.36 1227625941> ESTABLISHED ftn 32 ilm 256089 pim 19.454688535 ka © { 5.246.226.200 5.137.250.148 5.66.194.36 }
5,.137,250.80 785530390> ESTABLISHED ftn 2 ilm 256001 pi- 0.105544792 ka @ { 5.246.226.200 5,137.250.148 5,137.250.80 }

5.246.227.8 1774125858> ESTABLISHED ftn 28 ilm 256006 pi- ©.111126458 ka ® { 5.246.226.280 5.246.227.8 }

5.66,195.20 526811188> ESTABLISHED ftn 4 ilm 256003 pi- 20.105585305 ka 0 { 5.246.226.200 5.137.250.148 5,66.195.20 }



2A| 32 TITAN

« TITAN ZHI|Z80|Md Sof 2=

7m|asolMe 28 g 2
A

=
« 75 Z7(of et M XIS =20k E + [JUELICE Ol
X2 &t sty| Mof L{F U O=|oE|'° OIA|EIX| A E 2 5}

=1 1

. W2 Al AlZ MBS LR B A T

Ol‘D=1 I-:”E O-Ia-jl' = |_

S0 150ms 2f S A8 E + U&LICH



o] HHofl &5t
Cisco= ™ M| AFEXI0f| A CIe 012 X 2 i% M5

b7 loi 71A HE T|s0 2y
HAS HASI0 0| ZME HAMSLICL OfF 2| FEO| =2 7|H HIol2t: ME HATIS| H
o A2 0tE MESIK|= & LICE Cisco Systems, Inc.= 0] Z2 tHHof| CHal| of st MU
XXl 2o eat 2 72 EM(E3 M3 E)E &xe AS AL CHL



